Algebra 2


Parent Graph Review 

Name: _________________________
For each name the type of graph, state the transformations, domain, range, intercepts, and asymptotes (if applicable). Then sketch a graph.    DUE May 4th!
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Type: ____________
Type: ____________
Type: ____________
Type: ____________

D: ______________      
D: ______________
D: ______________
D: ______________

R: ______________
R: ______________
R: ______________
R: ______________

x-int _____________
x-int _____________
x-int _____________
x-int _____________

y-int _____________
y-int _____________
y-int _____________
y-int _____________
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Trans: 
Trans: 
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Type: ____________
Type: ____________
Type: ____________
Type: ____________

D: ______________
D: ______________
D: ______________
D: ______________

R: ______________
R: ______________
R: ______________
R: ______________

x-int _____________
x-int _____________
x-int _____________
x-int _____________

y-int _____________
y-int _____________
y-int _____________
y-int _____________

Trans:
Trans: 

Trans: 
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Type: ____________
Type: ____________
Type: ____________
Type: ____________

D: ______________
D: ______________
D: ______________
D: ______________

R: ______________
R: ______________
R: ______________
R: ______________

x-int _____________
x-int _____________
x-int _____________
x-int _____________

y-int _____________
y-int _____________
y-int _____________
y-int _____________

HA: ______________
Trans: 
HA: ______________
Trans: 
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Type: ____________
Type: ____________
Type: ____________
Type: ____________

D: ______________
D: ______________
D: ______________
D: ______________

R: ______________
R: ______________
R: ______________
R: ______________

x-int _____________
x-int _____________
x-int _____________
x-int _____________

y-int _____________
y-int _____________
y-int _____________
y-int _____________

Trans:

Trans
Trans: 


II. Find the intercepts for each.
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 EMBED Equation  [image: image18.wmf]    

x-int ____________________
y-int __________
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x-int ____________________
y-int __________  
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x-int ____________________
y-int __________            
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x-int ____________________
y-int __________
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x-int ____________________
y-int __________
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x-int ____________________
y-int __________
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x-int ____________________
y-int __________
III. State the Domain and Range for each. You may use inequalities or interval notation.
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D:___________________
R:___________________
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D:___________________
R:___________________
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D:___________________
R:___________________
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D:___________________
R:___________________
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D:___________________
R:___________________
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D:___________________
R:___________________

IV. Use all the given transformations to make the appropriate function.

Transformations:  Right 5, x-axis reflection, stretch by 4, down 3

30) 

Quadratic-

Square Root-

Cubic-

Absolute Value-

Transformations: Up 7, left 2, y and x reflection, shrink by 
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Exponential (base = e)-

Absolute Value-
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